To: Installers, Testers, Trade Customers, Training Centre, Phil Beresford, Jon
Blight

Stannah Lifts Safety Bulletin

Issue No: M32 Date: 20/01/06 Page 1 of 3

LIFT TYPE: - Stannah System 21 Hydraulic Passenger Lifts 8 Person & 13 Person
models with centre-opening doors

Description

We have recently introduced a design change which eliminates the excessive gap between the car floor
and the shaft wall (or lift structure) whilst using the floor as a working platform during installation.
This gap should be no more than 300mm during the operation of the lift at all times. As a consequence
we have adapted the existing Roof Extension Plates used on the centre-opening models so that they
can be temporarily bolted to the car floor during installation to decrease this gap to less than 300mm.
The diagrams below show the assembly details. Once the lift car has been assembled the extension
plates can then be bolted in their permanent position on the car roof.

FLOOR MOUNTED (TEMPORARY POSITION)
ROOF EXTENSION SUPPORT BRACKET
VIEW ON ARROW 'A'

ROOF EXTENSION
WARNING LABEL - | OFF

M8 X 20LG
HEX HD SCREW - 4 OFF

M8 CONTACT
WASHER - 4 OFF

ROOF EXTENSION
SUPPORT BRACKET - 2 OFF

i RODF EXTENSION
WELDED ASSY - | OFF
M8 CONTACT WASHER - 4 OFF \‘A‘

M8 % 20L6 HEX HD SCREW - 4 OFF:

8 PERSON CENTRE OPENING | OFF SUPFLIED
TEMPORARY FLOOR EXTENSION ASSEMBLY
OF ROOF EXTENSION PLATE ASSEMBLY
(900 X ENT SHOWN)




FLOOR MOUNTED (TEMPORARY POSITION)
ROOF EXTENSION SUFPORT BRACKET
VIEW ON ARROW 'A'

ROOF EXTENSION:
WARNING LABEL
| OFF/PLATE ASSY
FULLY ASSEMBLED
EXTENSION PLATE

M8 X 20LG HEX HD SCREW:
4L OFF/PLATE ASSY

MB CONTACT WASHER
L OFF/PLATE ASSY

ROOF EXTENSION
WELDED ASSY
| OFF/PLATE ASSY

M8 CONTACT WASHER
L OFF/PLATE ASSY

MB X 20LG HEX HD SCREW
L OFF/PLATE ASSY

ROOF EXTENSION:
SUPPORT BRACKET
L. OFF/PLATE ASSY I3 PERSON COMMERCIAL CENTRE OPENING 2 OFF SUPFLIED
TEMPORARY FLOOR EXTENSION PLATES
USING ROOF EXTENSION PLATE ASSEMBLIES
(1100 ENT SHOWN)

FLOOR MOUNTED (TEMPORARY POSITION)
ROOF EXTENSION SUPPORT BRACKET
VIEW ON ARROW 'A'

ROOF EXTENSION
WARNING LABEL - | OFF

M8 X 20LG
HEX HD SCREW - 8 OFF

MB CONTACT
WASHER - & OFF

M8 X 20LG HEX HD SCREW - 8 OFF

ROOF EXTENSION
SUPPORT BRACKET - L OFF

ROOF EXTENSION
WELDED ASSY - | OFF
M8 CONTACT WASHER - 8 OFF

|3 PERSON STRETCHER CENTRE OPENING | OFF SUPPLIED
TEMPORARY FLOOR EXTENSION PLATE
USING ROOF EXTENSION PLATE ASSEMBLY
(800 X ENT SHOWN)




ACTION

Installation personnel must fit the above assembly to the car floor before using the floor as a
working platform within the lift wall.

The Extension Plate(s) should be removed upon the start of the car panel to floor assembly of
the side of the floor the extension plate is bolted to.

The Extension Plate(s) must be refitted to the roof upon completion of the roof assembly to
the car panels and before the roof becomes a Working Platform.

Warning; The Extension Plate(s) are not to be used as a Working Platform. Avoid
standing on them whilst they are bolted to the floor.

Any questions/feedback regarding the above please contact;
Mr Rob Sayer, Stannah Lifts Ltd, Anton Mill,
Andover, Hants, SP10 2NX, Tel 01264 343683

E-mail : rob_sayer@stannah.co.uk

L:\Tech documents\Technical bulletins\M32.doc




